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Note: First 15 minutes are allotted for the

candidates to read the question paper.
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Instructions :

i) This question paper is divided into fwo
Parts A & B. Attempt all the questions
of each part together at one place. Each
part should be attempted on a new
page. ‘

i) Marks allotted for each question are
mentioned against it. '

iii) This question paper contains four types
of questions — Multiple-choice type,
Very Short Answer type, Short Answer
type and Long Answer type. Instructions
have been given at the beginning of
each type of question.
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iv) Attach firmly the supplied maps for
Parts - A & B to your answer-book.
v} For - vision-impaired examinees
Question No. 14 in-Part-A and Question
No. 28 in Part-B have been given
separately for writing answers in lieu of
map work.
gug - F
PART - A

( agfasedia vy )

{ Multiple Choice Type Questions )
Frffas

fadwr - forpeal 4 & ®& 3T g

AN FR-gRea=m 1 fafaw

Instruction : Choose the correct answer from the

gwven alternatives and write in your
answer-book :.

et A o o g g ew @ o 2
&) T T SEA -
T Hid o BRA 1

Otto von Bismarck was related to the
country named '

a) Italy b) Germany

c¢) France dj Britain. 1
ﬁni%ffaanﬁmm?lnmﬁmmm
Hifee forar mar 2

%) Taferam weory

w) faferm fdw

T) Thel@ fawey wym -
) W foegn 9qd) | | 1
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2. Who among the following was proclaimed as

the German Emperor in 1871 ?

a) William 1

b) Willam II

¢) Friedrich Wilhelm [

d) Friedrich Wilhelm IV. 1
3. 17898 WY f&g R & T 91 2

%) Fihd Toad ~ @) 9 T9as

T WA ) TR | 1
3. - What type of state was France in 1789 ?

a) Unlimited monarchy

b} Limited monarchy

c] Democracy

d] chubhc
4. FeidiEa # 4 sFW W wEE whwd ﬁ

Eﬁn’l’ﬁﬁ o7 ?

m S ¥) wEL 1
4. Which one of the following countries was

related to central powers ?

a) Britain b) France

c) Germany d) Russia. 1
5. il | tefated § 8 s F-a agoes o1 & 2

%) A §) R

m e ) gRem) - .
5. Which of the following is the majority group

in Sri Lanka ? ,

a) Tamils b) Christians

¢} Sinhalese d) Muslims. 1
76830 @ OF
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6. %m’?ﬁﬁﬁ@ﬁ?—mwwwaﬁmm
o)
F) IH AT T) TR —
T) O o) feeelt 1
6. Which of the following states is not a federal
staie in India ? ,
a) Uttar Pradesh b) Maharashtra
c) Pumnjab dy Delhi. 1
( i o1 I W )
[ Very Short Answer Type Questions )
7. 1920 ¥ g IEl e WEWR & I EHRW
forfay | 1+1
7. Write two causcs of Economic Great
- Depression in 1929, 1+1
8. Tiehdie T & i §F @9 a5y | 1+ 1
8. Write fwo advantages of democratic
government. 1+1
e o % fAe g 17 58w
ToreraAT it |- 2
9. "Poverty is harmful for democracy." Discuss
this statement. _ 2
( ¥ FHg U )
( Short Answer Type Questions )
10, T 3 R FoR I b ) agodig
HAET (WolHollo) & & ¥ IR a9y
ERIE]| 7‘ 3
| o)
s 3 Ider @ wEm Wt v
3ot frar & 2 SSreol wfd we St 3
76830 | ®OF [ Turn over
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10.

11,

11.

[2.

How has Globalisation enabled the national

companies to emerge as Multinational

Companies (M.N.Cs) ? - 3
OR

How has technology stimulated the
globalisation process ? Explain with
examples. : 3

= H on F ahElg F R § dediEs

G F oA mﬁmmmm% ?

T FHI | _ : 3
HYar ,

“AAdiEE YT AR THHaT T IR

gl &1 STl afed @ e W gfe siteg) 3

How can we asscss democracy in the

enhancement for the dignity of the

individual ? Explain. ' _ 3
OR '

"Democratic system is based on political

equality.” Prove this statement with
examples. 3

(ﬁﬁ_aﬁﬁuwﬁr)
{ Long Answer Type Questions )
FFEAT WM< o o o1 2 9% fEw
A FRT & IeerE wifeE ) 11+ 12+ 11+ 1)
A -
o sae AR S gem T 9T 2 3w
W@ A ST 1 Ieoig ST |

13+ 15+ 13+ 12

76830 oOF
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13.

13.
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Who launched the Non-Cooperation
movement ? Mention any three causes of it.

13+ 15+ 13+ 12
OR

When was Civil Disobedience Movement
launched ? Write any three main causes
of it. o 1i+ 1+ 13+ 13

At el & W wR H ke v

T & fou wid TR gRT 1992 ¥ 3JW W
FEH! P AT iU | 6

AT

agfrs yRa A afa R Afa Sgeren d &0
FEeEt T T0A BT 3+3°

Explain the steps taken by the Indian
government in the year 1992 to make the

third-tier of democracy more powerful. 6
OR
Describe the changes in caste and caste
system in modern India. 3+3
( avAfas et ue )
( Map Work )

frw: Prafefes = # TR $ RE R

- 76830 ®OF

e § @ faes grn Am afee ez W
I T T A W Tl 4, 3 o fawifia €

| Turn over
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Instruction : In the given outline map ol India

14. i)

14. i)

76830

locate the following places by the
symbol (® with names. For correct
mention of name and location
3. % marks have been allotted.
9% ™F SRt 3Y 1927 W W A AU
gy e 143
o WH Wl Wl At A Sl e
3T AR gl | '
T WM Tl w9 A J9 HOg dfedee
1929 A foar o 1+

T BIF WEl AT B @dt ael REEl A
Aame o oy 1

+

M=
Faf=

-

] B
=

% WA W Aol a7 wg g |
The place where the Congress held its
session in the year 1927. itz

The place where Mahatma Gandhi
launched the Civil Disobedience -

+

TR
s

Movement. 1+3
The place where Congress held its
session in 1920, P+ 3
The place where Indigo planters held
their Satyagraha. 3+3
The place where Jallianwala Bagh
incident took place. 5+ 2
OOF
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( Fam gieatas wentaat & o
qrafas wrt & faeer & v § )

( Only for visually-impaired examinees in

lieu of Map work )

fagw : 9 v & I o swR-yftear d fafan

AT 7 760 T F

Instruction : Write the answers of the following

14. i)

ii)

iif)

)

14. i)

T6830

questions in lieu of map work in
your answer-bogk. Do not use map.

a9 1027 T S T UM ANEYE FeEl

o g 1
TR T T A WE s sler
HEr W Uy T o 2 1
HUE A A FETT 1920 § wer fFa
o2 1
mﬁ@#ﬁw%ﬂm#mm
Fl T o 7 1
SfeTaaeT = i el gar o 2 1
Where did the Congress hold its
session in the year 1927 ? 1

From where did Mahatma Gandhi

launch the Civil Disobedience
Movement ? 1

O OF | Turn over
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iii)
W)

V)

Where did Congress hold its session
in 1929 ? 1

Where did the Indige planters hold
their Satyagraha ? 1

Where did the Jallianwala Bagh !

incident take place ? I
|qrg -9
PART - B

( FEfawsdim w9 )

( Multiple Choice Type Questions )
v . Frefefaa fomcat o @ w6 s g St |

IW-YRae 7 fofae :

¥

]

i

_!
Instruction : Choose the correct answer from the ;
following options and write it in. |

your answer-book :

15. Wﬁﬁﬁﬁﬁﬁﬁﬂﬁﬁmﬁ’@ﬁﬂ@ﬂq@

FRVT F41 € ?
®) WG - @) sy g _
N OEHEET W swEmn 1

15. Which among the following is--the main
reason for land degradation in Punjab ?

a)
b)
c)
d)

76830

Intensive farmlng
More irrigation
Deforestation

I

f

!

Overgrazing. 1

®®F
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11 | 825(B2)
ﬁmﬁﬁﬁq—mwmmﬂﬁ% ?
&) s q) WE ...

T 49

Which If:rf the following is not a personal
resource ?

q) WA T 1

a) Plantation b} Pasture

¢) -Land 'd) Mineral resource. 1

ﬁmﬁ{ﬁaaﬁ_ﬁ_mﬁ@ﬁﬁ?%{qﬁ?—ﬁﬁ@
TR 7 | |
) oeg g W o
M wen FE . H) Smme e 1

17.

Which of the following is the best soil for
cotton cultivation ?

a) Alluvial soil D) Red soil

- c)  Black soil d) Laterite soil. 1

18.

18.

76830 | ®OF

%ﬂm%_mﬁaﬁﬁﬂ% ?

F) g) AR

m o oERr ) e FIE | 1
Hematite is related to which mineral ?

a) Copper b} Bauxite

c) Gold d) Iron ore. 1.

[ Turn over

825(BZ) 12
19 ura TaET RAE, 2018 H SR W FH-H W
T g3 ol 7
F) 1254 @) 1244
T 12978 7) 13073 !
19. What was the rank of India in the Human
Development report, 2018 ?
a) 125th b} 124th
¢} 129th d} 130th. 1]
20. T fH7 Fwqst F forg wmrors Fae § 2
%) Eqwma%ﬁf, ) T g | :
o T R ERY ¥) TR aEel 1.

21.
21.
22.
22,

For what commodities is Agmark a standard :
mark ? |
a} Consumption goods

b} Service goods

c) Food items

d) Electronic goods. - ' 1

( @t &g swdte wy )
( 1f.\'ery' Short Answer Type Questions }
EEEES I
What is a minera) ?
¥ 1 JH T T RGO aE-G) ¥ 2 2

Which 1 ipeli
cﬂunt‘;;e 1s the largest gas pipeline of the

(O

éi_mwfﬁﬂﬂéﬁwﬂﬁm 1+1
- Give any two examples of Kharif crops.
1+ 1
76830
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24.

25,
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( 9g IEE W )
{ Short Answer Type Questions )
"R H UR T B A I oy 2 BN
A SR AT
S
S W) ST FAEC) TR F T 7 IARH
T4 & A FART | 2+ %+ %
Why is the future of solar energy bright in
India ? Give any three reasons. 1+1+1
OR

State the usefulness of mica. Name two
mica producing states in India. 2+ %+ %

1+1+1

fodelt &R w1 IHA TH F HBE dF GIE

e 1+1+1
s TafaiEr, TR & oRkfEfaar & smw
R U Tltgee B I 2

1¥% + 1'%

. Give any three suggestions to make foreign

trade favourable. 1+1+1
OR |

How are economic activities classified on
the basis of employment conditions ?

1V + 1%

[ Turn over
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26.

26.

27.

27.

( < I W )
{ Long Answer Type Questions )
fod) sdogery ® FW ® w0 AEA Bl & 2
FHARY | 6
St -
TGS 791 9FEE GEEEl § =R O7 FINTI 6

What is the importance of Agriculture in an
economy ? Explain. 6

OR

Clanfy the difference between Natural and
Human Resources. 6

JAraE &% o el | foW S8 ¥ 2 surem
! 6
ﬂ@amﬂmﬂ%mﬁﬁmﬁﬁzaﬁﬁﬂmﬁﬁﬁ

R Fl G T & Y T F B e ¥ 0
3+3

How is the tertiary sector different from
other sectors ? Explain. 6

OR

Differentiate between national income and

per capita income. Which one is of these

better to compare different countries ? 3 + 3

76830
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(WA F )
( Map Work))

g ™ wra & 9Efas o Soiefag A

. ZYIEU

Instruction: Show the following on the given

28. i)

28, i)

V)

76830

map of India.

feadt sitg () Fereet grr 9 g 14l

e | 3+3
-W“ﬂiaﬂ%ﬂﬂiﬁﬁmw
afed | 3+3

andt & W faes g m e 141

WS TR O foew g A e 3+ 3
Tehri Dam by the symbol [J with name.
1,1
2 2z

One mica producing area by the

symbol A with name. 3+ 3

A centre of atomic energy by the

symbol ® with name. : 1+13
Tapi river by the symbol ™ with name.

’ 1,1

dt 32

Prayagraj city by the symbol O with

name. 3+ 3

®OF : [ Turn over
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( Fae gizafaa adenfaal & o
AR @ & faweq & w0 H )

( Only for vision-impaired examinees in

lieu of map work }

PRy . feafefed weAl % I SUH SRR |
fofae | aAfas =1 7T 7 it |

Instruction : Write answers of the following

28. i)
ii)

iii)

28. i)

825(BZ) - 4,40,00’;3

76830

questions in your answer-book. Do
not use the map.

ot aiy e =@ w A § 2 )
YT IURE FE O & w1 aw fafaw 1
IfaFE F & fFE ©E Sy e AW

igiiced | ' 1
At T2 e qrR § fredt &2 1
WA TR fed fow ufag € 2 1
On which river is the Tehri Dam
constructed ? 1

Write the name of any one mica
producing area. 1

Write the name of any one centre of
atomic energy. 1

Tapi river is fallen in which ocean ? 1
What for Prayagraj city is famous ? 1
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